1.

VI2x V15 x V35 = aV7 &4 W, a 9] 7k2?

@ 15 @ 20 ® 25 @30

V12 x V15 x V35
= V22x3x V3x5x Vb X7
=307




2. J(3-2V2 - /(2V2-3) & 4] @
D 6-4v2 @ -4v2
@)o ® -6+4v2

B

3>2420]822

VB-2v2)2 - /(2v2-3)?
=13-2v2[-12v2-3|
=3-2V2+2V2-3

=0




8 1 .
VEZ 4~ - VB = aVE, mx\/gxmzws S

9 zre?

®-2 @-1 On @ 2 ® 3

B

A4V2+4V2-5V2=3v2 .
/20 2«/‘ «/’ 2«/5
:2\/_




4. x y7bFESL w, x(2-2V2)+y(3+2V2) 9 gtol fel 5t Hrkn
gk 2 o gre e

(Fo1A Al) = 2x - 2x V2 + 3y + 2y V2
= (20 +3y) + (-2x+2y) V2

o] Ao] {27t H 7] YA+
—2x+2y =0 (x, y= fr2l5) o] Fojof gt}
S, x=y

Y_*_4

x X




= % 1 gkol A YU o shu=?

@ (v3)? @ 9
@ vavar o I

®7®7®,©I3
@ :3v3




filo
N
i
ol
ok
Y,
ol
go
rlo
",
filo
H
4n
K
[
g

D)

x>0, y<0 o, ot 4]

Q@ Vx-yP=x-y
© VaZ+ 32+ - x)7 =2
© V- - x-y)?=2

oo 0o o0 @060 Gae

5
@x-y>0, \/(x-y)?2=x-y

O©y-x<0,
Ve + P+ G-
=x+(-y)-(y-x)=2x-2y
=x= (=)= (x-y)
=x+y—-x+y=2y




7.  4< V2n<7& WSS AAE n O G FolA HAGE a, TS
bt &, a+b 9 327

® 32 (E§)33 ® 34 @ 35 ® 36

~&B ~

42 < (V2n)? < 72
16 < 2n < 49

4
. 8<n<?9:24.5

A a=24, ARG b =9
La+b=24+9=33




FEAFad FE5Eb7ta>0,b>0 L o, Tt

8.

< 0
150 X |
A T°
T o
< 7_W s |

<k

Bk
A

i

5

a=2,b

v2 =
@ bva =2 f=5°1A

<

of
il

<

il
)




el
<+ M
= ol
,.Blb
T+

N
W
L
e
cE
=3

5 2+ 9 Aol
N EFE Va, 7t

= A
T T

9.

3 102

@ 100

@® 98

el

Qo J o
0 N

L

0 S T R

c.a+b =106




10.

YA {

V3x—2V2y = -2
17 18
@® x 177\/_,y 178
® x 177‘/_,y 178
= — — 3
® x 7\/§,y -

V2x + \/§y=5\/6

=l

18 17
@ x=7\/§,y=7\/§

18 17
@= 7 By= V2

V2x+ 3y =5v6---Q
\/§x-2'\/§y:_2©
Ox2V2+Ox V3 2 5HH

42+2/6 y=20/3
+) 37-2V6y=—2/3
Tz =18/3

18
Lx=—1v3
X 7 V3

@oh:?«é%ww
4 34
57—2\/§y=—2, V2y = —

17
— 1\
y 7\/_




11. V143 9 g& a5k, Vb =1.105 € W, a,b 2] 32?2

T 0 1 2 3

1.0 | 1.000 | 1.005 1.010 1.015
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